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Question paper specific instructions

yed U3 & forg faflre sy

This paper is divided into two Sections, Section-A and Section-B.

Y geauy |7 wel # faafog 8, ws-A 3k d@e-B

Each Section contains four (4) questions.

TS s § AR 9 2|

Candidate has to attempt five questions in all.

gt @Y uig uwEl @1 SR forEgHr 2

Question Nos. 1 and 5 are compulsory and out of the remaining, THREE questions are to be
attempted choosing at least ONE question from each Section.

g HeET 1 3R 5 AErd @ 3R 99 g J AR N a1 SR foeT R, v e A @ uE
& AT & |

Word limit in questions, where specified, should be adhered to.

vl # weg Wy, el fafafde 8, @1 srgerer fear s =Ry |

The number of marks earried by a question/part is indicated against it.

YAS U /9T & fory fFaa i 99 9me Ry v §

Questions are printed in English & Hindi languages. In case of any ambiguity in translation of any
question, English version shall be treated as final.

A% g B 3R sl QT Wl # v 2|yl @ rgae # R srsear @ Rufy #,
U FEHT BY & AfaH 7= g |



Section A (€S- A)

Q1. Answer the following questions in about 150 words each:

fProfafad 3 @ ude &1 IR TTHIT 150 Tea! | forf@ :

1(a). How is sociology different from common sense? (8)
TSR, T §fE ¥ 5 veR i B2

1(b). Bring out the major critiques of positivism. (8)
gHTaIE B UHE ATArEIsT B gRisy | .

1(c). Why have many feminist researchers preferred qualitative research? (8)
FgATgd Waret Qi 3 TumeTe Y B 4 g < 82

1(d). Examine the concept of ‘class compromise’ in the Industrial capitalist system. (8)
e doftard) gumeh & afomrgiar @ srauron &1 oo HY.

1(e). Highlight the differences between natural and social inequality. (8)

T fadh 3R IS HHd1 & §d S SR DI @ifhd DI |

Q.2 : Write answers of the following questions.

Fofafea oyl & Iw fofae

2(a) ‘To say that the relationship between sociology and anthropology is a close one is not to suggest

that it is free from tension’. Explain. (10)
TE HEA1 [ THIYRE SR QoS HHaRe & ol ufy Jay 8, S9! Haas 98 81 &
% 9% 719 gad ) WE S |

2(b) Is Durkheim’s concept of religion entirely different from that of his predecessors? Why and how?

&1 @iy @t 4 B sEyRuT U ydafdal ¥ ol ave frm 87 ot ok e (15)

2(¢) Discuss the.working condition of gig workers in the digital-enabled gig economy. (15)
fSfrea-gem - srferaw & firt wrail @1 1t R w == s

Q.3: ;. Write answers of the following questions.

Fafiigd vyl s I fafey

3(a) How far doyou agree that Sociology is a science? Give reasons to support your answer.

3T 7359 8¢ a9 YeHd § (& GHISIIRA U fag 81 30 IR & U8 H SR Famd | (10)
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3(b) Discuss with suitable examples, Merton’s analysis of the relation between social structure and
anomie. (15)

TS TRET 3R FASREaaT (TAndh) & &t 96y & 09 & fARavur &1 Iugad Iameol & 91y
EClEad

3(c) Do all social movements aim at social change? Discuss the relationship of social movements

and social change. (15)

T gt I ST BT I FTHIRS URad 87 Mo Sfiare! 3R FrTfore uRad— &
el 3t fag=mn sifom|

Q.4: Write answers of the following questions.

fFrafafad usl & I faf@g
4(a) What are the differences between reliability and validity and why are these important
criteria for the evaluation of social research? (10)
fasrg=taar tan vafdedr & 1 3R § 3R Ao 2y & Hedie- H §¢ ol Agayul AHcs AT
EICIE
4(b) Bring out the similarity and differences between communalism and religious fundamentalism.
i Geptufarare 3R FwERaTE & st WA SR 3R &1 Y | (15)
4(c) “Civil society plays a significant role in building and consolidating democracy”. Comment.
AR AT Aebdd & T R Gediewu § geayul yftret P 21 Ruoft #iRm | (15)

Section B (§7s- B)

Q 5. Answer the following questions in.about 150 words each:

fFufaf@a & ¥ ude &1 IR T 150 el # forfRu -

5(a) Examine the policy of assimilation in the context of tribal development. (8)
ST T & Fa | areraran Aifd o1 adte S|

5(b). Elaborate G.S. Ghurye’s perspective to the study of Indian society. (8)
YR A & 3207 H o gyl & eRiv &1 fasgd Seera Hiforg |

5(c) Examine the impact of modernization on the macrostructure of Indian society. (8)
R TANS B ged Tea-l W AYFADBIHEI0 & THIT BT Temr S|

5(d) Earlier, villages in India demonstrate many elements of structural unity. Comment. (8)

gl YR | Tid G-1d Thdl & hedal o Ueid ®id o feuh Sifsm



5(e) Explain the definitional ambiguity concerning tribal communities in India (8)

YRA § ST gaE & SaY H URHTSIHS SRUPT P oIReAT iy

Q 6: Write answers of the following questions.

Fraffad usf & Iw fifeg
6(a) Discuss the classification, issues, and sociological understanding of the peasant movement in India.

HRd H {6 siigia &1 ey, 48, 3R THORd g 999 & a) & =i &1 (10)
6(b) Examine Sanskritization as an ideological borrowing process.

& J9IRS IUR Uiehar & U F Yoo &1 e s | (15)
6(c) Compare the viewpoints of Louis Dumont and Andre Beteille on the Caste systems of India.

HRA B Si1fcl TG TR T3 SAT 3R 3% Td & fa=RY &t gamn 32 (15)

Q.7 : Write answers of the following questions.

Fafefaa vl & I fifeg

7(a) Compare the Book view with the Field view to understand the social system. (10)

o oTTel 1 §HSA & f (Book View) 3R (Field View) @1 Jo1 ®11

7(b) Critically examine Green Revolution and its failure. (15)

gRa wifa 3R IuP! fAwerdr &1 eeas e S|

7(c) Slums are the ultimate sites and manifestation of urban social exclusion. Comment. (15)

Tfer skt et I siesR &1 siftn wie 3R ifieafd §1 fewof it

Q.8: Write answers of the following questions.

fFafifad usl & SR fifde

8(a) The term middle class is slippery because it is relational. Examine the statement. (10)

T g1 e YSYUTHS 511 o SHRUI doia gidl ¢ | $9 dacded 1 UHa Sife|

8(b). Define sustainability and critically examine the relationship between economy and ecology. (15)

HOIi¥q fdemm o1 ofvnfia &1 iR srdegawyr iR uiitfRufaet & g gl &1 srcaaras udeo Sifvm|

8(c). Define Migration and what are the sociological reasons behind reverse migration in India? (15)

T &1 URYINT $Y 3R HRd § Rad yaea & 0o gueRey SR &1 82



